
     ПРИЗМА–Решења задатака из збирке за завршни испит 

 

 

 

 

 

 

 

 

 

ܽ = 2݉	 

ܾ = 3݉	 

	ܿ = 0,5݉ 

ܸ = ܽ ∙ ܾ ∙ ܿ 

ܸ = 2݉ ∙ 3݉ ∙ 0,5݉ 

ܸ = 3݉ଷ 

2 

ܽ = 11ܿ݉	    ܽкоцке = 5ܿ݉ 

ܾ = 9ܿ݉	    кܸоцке = ܽଷ 

	ܿ = 5ܿ݉                                                       кܸоцке = (5ܿ݉)ଷ 

кܸвадра = ܽ ∙ ܾ ∙ ܿ                                         кܸоцке = 125ܿ݉ଷ 

кܸвадра = 11ܿ݉ ∙ 9ܿ݉ ∙ 5ܿ݉               тܸела = кܸвадра − кܸоцке  

кܸвадра = 495ܿ݉ଷ                                      тܸела = 495ܿ݉ଷ − 125ܿ݉ଷ = 370ܿ݉ଷ 
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ܲ = 2ܾܽ + 2ܽܿ + 2ܾܿ = 2(ܾܽ + ܽܿ + ܾܿ) 
ܲ = 2 ∙ (5ܿ݉ ∙ 3ܿ݉ + 5ܿ݉ ∙ 7ܿ݉ + 3ܿ݉ ∙ 7ܿ݉) 
ܲ = 2 ∙ (15ܿ݉ଶ + 35ܿ݉ଶ + 21ܿ݉ଶ) = 142ܿ݉ଶ 
ܸ = ܽ ∙ ܾ ∙ ܿ 
ܸ = 5ܿ݉ ∙ 3ܿ݉ ∙ 7ܿ݉ = 105ܿ݉ଷ 

ܽ = 5ܿ݉	                 
ܾ = 3ܿ݉                  
ܿ = 7ܿ݉                  

142 

105 

ܸ = 5ܿ݉ ∙ 5ܿ݉ ∙ 15ܿ݉ 
ܸ = 375ܿ݉ଷ 
 

кܸоцке = (3ܿ݉)ଷ 

кܸоцке = 27ܿ݉ଷ 

кܸвадра = 4ܿ݉ ∙ 2ܿ݉ ∙ 3ܿ݉ 

кܸвадра = 24ܿ݉ଷ 

кܸоцке − кܸвадра = 3ܿ݉ଷ 
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ܽ = ܯ                 	12ܿ݉ = ܪܽ)2 +  (ܪܾ
ܾ = ܯ                  6ܿ݉ = 2(12ܿ݉ ∙ 4ܿ݉+ 6ܿ݉ ∙ 4ܿ݉) 
ܪ = ܯ                  4ܿ݉ = 144ܿ݉ଶ 
ܲ =? 	ܸ =?                 ܲ = ܤ2 +  ܯ
ܤ = ܾܽ ܲ = 2 ∙ 72ܿ݉ଶ + 144ܿ݉ଶ = 288ܿ݉ଶ 
ܤ = 12ܿ݉ ∙ 6ܿ݉ ܸ =  ܪܤ
ܤ = 72ܿ݉ଶ ܸ = 72ܿ݉ଶ ∙ 4ܿ݉ = 288ܿ݉ଷ 

 

 

 

кܸоцке = (8ܿ݉)ଷ 

кܸоцке = 512ܿ݉ଷ 
512 

ܽ = ܯ                 	4ܿ݉ =  ܪ3ܽ
ܪ = ܯ                 	2ܿ݉ = 3 ∙ 4ܿ݉ ∙ 2ܿ݉ 
ܲ ܯ                 	?= = 24ܿ݉ଶ 

ܤ = ௔మ√ଷ
ସ
	                 ܲ = ܤ2  ܯ+

ܤ =
(4ܿ݉)ଶ√3

4  
ܲ = 2 ∙ 4√3ܿ݉ଶ + 24ܿ݉ଶ 

ܤ = ଵ଺√ଷ
ସ
ܿ݉ଶ = 4√3ܿ݉ଶ                ܲ = 8(√3 + 3)ܿ݉ଶ 

 

8(√3 + 3) 
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ܽ = ܪ,	2ܿ݉ = 5ܿ݉            ܸ = ܤ ∙  ܪ

ܤ = ௔మ√ଷ
ସ

= (ଶ௖௠)మ√ଷ
ସ

	           ܸ = √3ܿ݉ଶ ∙ 5ܿ݉ 

ܤ = √3ܿ݉ଶ                           ܸ = 5√3ܿ݉ଷ      
5√3 

ܤ =
3ܽଶ√3
2  

ܤ =
3 ∙ (2ܿ݉)ଶ√3

2  

ܤ =
3 ∙ 4√3
2 ܿ݉ଶ = 6√3ܿ݉ଶ 

ܸ = ܤ ∙  ܪ
ܸ = 6√3ܿ݉ଶ ∙ 10ܿ݉ 
ܸ = 60√3ܿ݉ଷ 

ܽ = 2ܿ݉		                                                      
ܪ = 10ܿ݉                                                     
ܸ =?                                                         

60√3 

௞ܸ = ଵܸ + ଶܸ + ଷܸ 

ܽଵ = 3ܿ݉		                                                     ௞ܸ = 27ܿ݉ଷ + 64ܿ݉ଷ + 125ܿ݉ଷ  
ܽଶ = 4ܿ݉                                                       ௞ܸ = 216ܿ݉ଷ 
ܽଷ = 5ܿ݉                                                       ௞ܸ = ܽ௞ଷ 
ܽ௞ =?                                                               ܽ௞ଷ = 216ܿ݉ଷ 

ଵܸ = ܽଵଷ = (3ܿ݉)ଷ = 27ܿ݉ଷ                   216 = 2 ∙ 2 ∙ 2 ∙ 3 ∙ 3 ∙ 3 = 6 ∙ 6 ∙ 6 

ଶܸ = ܽଶଷ = (4ܿ݉)ଷ = 64ܿ݉ଷ                   ܽ௞ଷ = (6ܿ݉)ଷ 

ଷܸ = ܽଷଷ = (5ܿ݉)ଷ = 125ܿ݉ଷ                 ܽ௞ = 6ܿ݉ 
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ܲ = 56√3ܿ݉ଶ                                 ܯ = ܲ −  ܤ2

ܽ = ܯ                                         		8ܿ݉ = 56√3ܿ݉ଶ − 32√3ܿ݉ଶ                   
ܪ ܯ                                                  ?= = 24√3ܿ݉ଶ 

ܲ = ܤ2 + 3                                    ܯ ∙ ܽ ∙ ܪ =  ܯ

ܤ = ௔మ√ଷ
ସ

                                           3 ∙ 8ܿ݉ ∙ ܪ = 24√3ܿ݉ଶ                         

ܤ = (଼௖௠)మ√ଷ
ସ

                                    24ܿ݉ ∙ ܪ = 24√3ܿ݉ଶ 

ܤ = ଺ସ√ଷ
ସ
ܿ݉ଶ = 16√3ܿ݉ଶ           ܪ = √3ܿ݉ 

√3 

ଶܪ = 289ܿ݉ଶ − 64ܿ݉ଶ 

ܽ = ଶܪ                                       		4ܿ݉ = 225ܿ݉ଶ                                   ܲ = ܤ2 +  ܯ
ܬܣ = ܦ = ܪ                            17ܿ݉ = √225ܿ݉ଶ = 15ܿ݉                 ܲ = 2 ∙ 24√3ܿ݉ଶ + 360ܿ݉ଶ 

ܲ =?ܸ ܤ                                      ?= = ଷ௔మ√ଷ
ଶ

	                                          ܲ = 24 ∙ (2√3 + 15)ܿ݉ଶ 

ܦܣ = ݀ = ܤ                    	                 2ܽ = ଷ∙(ସ௖௠)మ√ଷ
ଶ

                                   ܸ = ܤ ∙  ܪ

݀ = ܤ                                               8ܿ݉ = ଷ∙ଵ଺√ଷ
ଶ

ܿ݉ଶ = 24√3ܿ݉ଶ 	         ܸ = 24√3ܿ݉ଶ ∙ 15ܿ݉ 

ܬܦ = ܯ                                                 ܪ = 6 ∙ ܽ ∙ ܸ                                           ܪ = 360√3ܿ݉ଷ 
ଶܪ = ଶܦ − ݀ଶ                                ܯ = 6 ∙ 4ܿ݉ ∙ 15ܿ݉ 
ଶܪ = (17ܿ݉)ଶ − (8ܿ݉)ଶ           ܯ = 360ܿ݉2 


